MIAMIDADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
DEPARTMENT OF PERMITTING, ENVIRONMENT, AND REGULATORY 11805 SW 26 Street, Room 208
AFFAIRS (PERA) : Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-25%0  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/pera/
Construction Specialties, Inc.

49 Meeker Avenue

Cranford, NJ 07016

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County PERA -
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ),

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Contro}
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. PERA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply w1th the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model DC-4174 Aluminum Louver

APPROVAL DOCUMENT: Drawing No, RD-1140, titled “DC-4174 Submittal Drawings” Sheets 1
through 12 of 12, dated 12/03/2010, with Revision 1 dated 05/24/2011, prepared by Construction Specialties,
Inc., signed and sealed by L. David Rice, P.E., bearing the Miami-Dade County Product Control revision
stamp with the Notice of Acceptance number and approval date by the Miami-Dade County Product Control
Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,

model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise

noted herein. _

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no

change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in

the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of

any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to

comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed

by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then

it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its

distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 11-0218.04 and consists of this page 1 and evidence page E-1, as well as approval

document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA Neo. 11-1212.07
Expiration Date: June 16, 2016

Apprl(])val Date: February 9, 2012

(32/02‘ 20 1z Page 1




Construction Specialties, Ine¢.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. RD-1140, titled “DC-4174 Submittal Drawings” Sheets 1 through 12 of
12, dated 12/03/2010, with Revision 1 dated 05/24/2011, prepared by Construction
Specialties, Inc., signed and sealed by L. David Rice, P.E.

B. TESTS “Submitted under NOA # 11-0218.04”
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
' 2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with installation diagram of Model DC-4174 Aluminum Louvers, prepared by
Architectural Testing, Inc, Test Report No. A4375.01-109-18, dated 02/04/2011, signed and
sealed by Michael I). Stremmel, P.E.

C. CALCULATIONS “Submitted under NOA # 11-0218.04”
1. Model DC-4174 Louver calculations prepared by Rice Engineering, dated 02/15/2011,
signed and sealed by I.. David Rice, P.E.

D.  QUALITY ASSURANCE
1. Miami-Dade Department of Permitting, Environment, and Regulatory Affairs (PERA)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of code conformance to 2007 and 2010 FBC issued Rice Engineering,
dated 12/06/2011, signed and sealed by L. David Rice, P.E.

“Submitted under NOA # 11-0218.04”

2. No financial interest letter issued by Rice Engineering, dated 02/15/2011, signed and
sealed by L. David Rice, P.E.

3. Laboratory compliance letter for Test Report No. A4375.01-109-18, issued by
Architectural Testing, Inc., dated 02/04/2011, signed and sealed by Michael D.
Stremmel, P.E.

g 02/24’22

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 11-1212.07

Expiration Date: June 16, 2016
Approval Date: February 9, 2012



§

¥

i
L s

| l
ESTED HEIGHT 8‘-6"—E2
NN
o STACK TD AN UNLINITED HEIGHF e

1=172° X 4° % Lr4*
CLIP ANGLES
TRINNGLE VERE
TURKED

Y
i

H

5 ]
[

f
i
f

TESTED HEIGHT 8'-6~

TESTED HEIGHT 8'-6*
W
ENES

TESTED HEIGHT 8’-6*

i}
i |
f——————STACK TI AN UNLIMITED HEIGHT—

—————STACK TO AN UNLIMITED HEIGHT

g

e STACK TO AN UNLIMITED HEIGHT——

SEE TABLE DN PAGE 11 *STRAIGHT JAMB CLIP AND
FASTENERS FIR ATTAGHENT 10 SPECIFIED SUBSTRATES~\
AONONNDNYANOINONNYNANNNNANSSY

FASTENERS FOR ATTACHMENT TO SPECIFIED SUBSTRATES*
i
H
‘BVH

SEE TABLE ON PAGE 11 "STRAIGHT JAMB CLIP AND

4'~0* :;:AXIMUM————— T ae - TION
SPECIMEN 1 85 PSFx D SPECTHEN 2 Ti5 PSFE- Mexin SECTION G

*WINDLOADS SPECIFIED ARE FOR TESTING PURPOSES ONLY. SEE TABLE 4 ON SHEET 12 FOR MAXIMUM BLADE LENGTH AND

05-24-

REVISION: |

RD- 1140

DATE:; 12-03-10
SHEET: | OF 12

DRW NO :

= '-0"

PROJECT: DC-4I74

TITLE: SUBMITTAL DRAWINGS
DRW BY: R. GEIST

SCALE: 3/4"

3) All fasteners shall be stainless steel or plated steel.
4} Panel widths and heights are limited as shown in elevations and details.

will house waterproof or water resistant equipment, components or supplies.
6) Jamb clip spacing may not exceed maximum shown in elevations. Each clip and fastener used must be detailed on the drawing and verified on the NOA.
7) Separation of unpainted aluminum and dissimilar materials to be maintained by the installer.
8) This louver system has been tested, analyzed and approved for design pressures not to exceed 170 PSF and Is "Large Missile Impact Resistant".
9) See sheet 12 of 12 for blade span table. _
10) Mullion louvers may be stacked horizontally for an unlimited distance as long as recommended blade and mullion spans are maintained
11) Louvers without mullions may be stacked to an unlimited height as long as recommended blade spans are maintained
12) At the sill, the Jamb is miter cut and butted into the sloped silt and held with two SS Num 10 X 4" self tapping screws. The joint Is sealed with foam tape.
13) The head extrusion is square cut and butted into the Jamb or mullion and held with two SS number 10 X 1 inch self tapping screws
14) Blades are attached to vertical Jambs with four Number 10 SS socket pan head screws see details pages 4 and 5

STIFFENER SPACING ACCORDING TO DESIGN WIND LOAD FOR SPECIMEN | OR 2 APPLICATIONS. ODLICT REVISED
1} It shall be the responsibility the Structural Engineer of Record to verify the capacity of the structure to support the loads imposed by the louv somplying with the Floride
2) These louvers have been desighed according to the Florida Building Code and the Aluminum Design Manual. They are tested in Building Code
accordance with Dade County protocols TAS 201, TAS 202 and TAS 203. . Acceptance No f /- Z/ 02 ,

: . By . _
5) The louver s to be installed in a location where the room behind the louver Is designed to drain water penetrating into the room and the roonf4ismiDsde Product Cougral

Construction
49 MEEKER AVENUE, CRANF!

4/ :
Y, 8
”"@

15) Blades are attached to shaped louvers with tw,o,gﬂllet welds 1 inch long and with a :;.:_2_0 nut and bolt through a reinforcement flange attached to the frame see detail U/4 '

Specialties™

PHONE: 1-800-631-7379 / FAX: 908-272-5844




Blade Blade
Stiffener Stiffener
a A -

«
3

g
@

<&

FASTENERS FOR ATTACHMENT TD SPECIFIED SUBSTRATES'\

SEE TABLE ON PAGE 11 “STRAIGHT JAMB CLIP AND

—TESTED HEIGHT 8'-6" (STACKS TO AN UNLIMITED HEIGHT)—

1-—TESTEI] HEIGHT 8'-6" (STACKS TO AN UNLIMITED HEIGHT>—

&

SECTION

c L.

TR

35— 4"

SPECIMEN 3 92 PSFx

*WINDLOADS SPECIFIED ARE FOR TESTING PURPOSES ONLY.

SEE TABLES | AND 4 ON SHEET 12 FOR

SPACING ACCORDING TO DESIGN WINDLOAD FOR SPECIMEN 3 OR &4 APPLICATIONS.

10° MAXIMUM

PRODRUICT REVISED
28 cowmplying with the Floride

Buiiding Colds ;

Acteptomen No [ =/ 2./1207

E /2
Countrel

Product

MAXIMUM BLADE LENGTH AND STIFFENER

WHEN STACKING UNITS CONTAINING A BLADE STIFFENER, IT IS REQUIRED THAT

THE 3" CHANNELS BE TIED TO EACH OTHER TO ACT AS ONE COLUMN.
SEE DETAILS FOR STIFFENER JOINT PLATE.

4 Inch

Standard
Mullion Chapnd
Splice
\ /
(HY
\4./
SN
\2/
e
I
Il
I a
I P
I ¢
/] $ - |
. & |
| i |
af i l
22 i 5 [
&a 1 = I
P ] ;
! g |
=0
o5 & ‘
EE L. i
& I 8 |
it I 5 |
o 2
(i
g« H! %
gl ! 8
ma i o
2u i 2
=L i
e | T
V) Ll |
o RICE ——-
v _
ENGINEERING

SPECIMEN 4 75 PSFx

105 School Creek Trail
Luxemburg. Wi 54217
Phone $20.845 1042
Fax-  920.845 1048
VAW TICE-INC.COM

Flonda Firm No. F-01 00_0005061
Certificate of Authorization. #

L. David RIC
Registration NoJ[0823

2'x4"x1/4"
STIFFENER

P
p]

JOINT PLATE 2%

SSSANS

NN

L

N_1/4"-20 (QTY £
NUT/BOLT/WAY

(F110)

ULLIONS TESTED FBDR MAXIMUM HEIGHT 8’'-6*

SECTIO

",

NS

—MULLIONS TESTED FOR MAXIMUM HEIGHT 8'-6*

W
Ee

—

N

SECTION

oRmEﬁb

%
s, o
Mireantt

SIONAL

pant

~

\)
A

\\‘\\\

05-24-1

SHEET: 2 OF 12
DRW NO : RD-1i40

REVISION: |
DATE: 12-03-10

PROJECT: DC-4174
TITLE: SUBMITTAL DRAWINGS
SCALE: 3/4™ = I'-Q”
DRW BY: R. GEIST

N\
Construction Specialties™

49 MEEKER AVENUE, CRANFORD, NEW JERSEY
PHONE: 1-800-831-7379 / FAX: 908-272-5844

D




8 Inch Channel

Reinforced mullion

0%il-dd ° ON Mad 18139 ¥ A8 MAd YY8S-2L2-806 XV4 / 6LEL-159-008—1 :NOHd
2140 ¢ 133HS 0 = 2/1 T 1908 AZSUI® MIN ‘GHOINVHO 3NNIAY ¥INIIN 6Y
0I-£0-Z1 31¥d SONIMVAG TVLLIWENS ‘T 1LIL Soljjeldads uoipnijsuo)

I-72-80 | 'NOISIAZY 7L17-30 2L73r0Nd X

M m.m. w 2l LHOI3H WAWIXYW 04 C3LS3L NOITINKW

32 S . :
] o, o o o a o °
>4 =
mmmm
55
E =t
1] 5 © o
=¥

22l LHOISH WNAWIXYW d04 J3LS3IL NOITINW

4"%x2" Tee and

vol LHOI3H WNWIXYA 204 31831 NOITINW M o
.= EEtae B3
1 meges 27
E -mwm 1 W m.m
= 52333 2%
oS8t B35
W 85555 weg 9
=8 o = ]
2 =52 € 823
1 G B 0S85.2 23583
y = E oo P
% w hH — a0 [ral —pwg - -
73] % EEOE
pa— woJg
g}
%
Lo
&b &
© [a
= z
2T & o
< 3 ~
= 3
XN\ ©
<t J =
o (]
o =
[
= Lok
DI
E# %
/(-mm._.c.u._.wm.jw QATAIDI4S OL INIAHIVLLY 304 SHANILSYA
ONY JdIT0 dWvr LHOIVYLS. IT 39vd NO 37dvL 338
mv 0T LHOI3H 1H9I3H WNKWIXYW T31S3L

SECTIO

AN I N S S SN A )
mﬂ L mm
i

70T LHOI3H WNKWIXYW 014 d31S3L

o] . . . o . . . s - . s . .

SECTIDOHN.

DG

.
\3/
A
\3/

Angle

Tee and
x3l!

si?
\
@)\/ M
:
!
I
;!;L
|

Reinforced Mullion
4IIX2N
2"
\

_6'

La ¥}
=

/I.Mm..EE.MMb% I3TAT334S ) INIWHIVLLY 404 SHINILSVA
NV 4170 gWWE LHOIVALS, 1T 39vd NO 37dvl 33S

SPECIMEN 5 125 PSF%

(b€, B
TP

|
*WINDLOADS SPECIFIED ARE FOR TESTING PURPOSES ONLY.
SEE TABLES 2,3 AND 4 ON SHEET 12 FOR MAXIMUM BLADE LENGTH AND STIFFENER SPACING ACCORDING TO DESIGN WINDLCAD

FOR SPECIMEN 5 OR 6 APPLICATIONS.

DEC 0 6 201



% REVERSE CLIP =
INSTALlé?_!TDISm J -
NOT ) 3
A\ o Ll
T e Dot THEE
sha 2=z
100 r\eln{-‘oprcemen % g E z
b |lalvnla
qg -
2 = = 2% t weld {
Incﬁ lowneg ® jj
REVERSE CLIP - &) REVERSE CLIP | REVERSE CLIP REVERSE CLIP g
INSTALLATION A INSTALLATION  INSTALLATION INSTALLATION Rﬁ?é%ﬁf&%éﬁ A &
16 Go MIN GALVANIZED 2000 LB MIN 3/16* MINIMUM CONCRETE FILLED 1/8” MINIMUM SPECIAL SHAPE §§fg
STRUCTURAL STEEL STUD CONCRETE STRUCTURAL STEEL CMU ALUMINUM PLATE LOUVERS 9 = e
Detail A Detail /B Detail /T Detall /DY Detail (BN Detail /O HEIEIR
SCALCE: NTS 4/ SCALE) NTS 4/ SCALE: NTS 4/ SCALE: NTS \4/ SCALE: NTS \4_/ SCALE: NTS \4_/ HEIES
SP-ALL SP-ALL SP-ALL SP-ALL SP-ALL SP-1 & 2 2iE|5|&
PRODUCT REVISED
as complying with the Florida
oot - 121Z.07
“‘”"‘%;"““ 3
/63 .
”/////p-“‘lils }({/’///—_ ){//’/F_‘fiiéik ::?;unni Product Cousrol /{,/////__ }{,///r_—“E!th o s
& 04 104 h—:%f
- 'r,;‘r”f
160 110 & - u "d§
e3>
= <’ iC | 9o°f
it - fil Gss
= MOGINEERIN b 8
2 2 105 523001 Grock Tra ¢ |2 Wil
S Erone FIA 1o e '/g 52
108 FoK 20845 1048 g g, L Qg2E
' Note: There is no - Flohda Fi N F01-OGDDO 1 F&i -v
Rlii\é'ErEEEA%EIIE connection ' ngf‘i?:gtg:o;f;\?nh;rizalion:gggg otail 23
Ww0OD between 48 and 40 QC%-IFEC}IE\ITS /:f\ ]S:)Ce;-[l_:gl%\lTS \U.égistrationNo:50923 SCALE: NTS
G=0.42 MIN., Ne tail T SP-4 SP-4 SP-4
Detail (N SCALE! NTS
SCALE: NTS W SP-2&3 N SEE SHEET 8 l__I:IR CLIP DET
SP-ALL Y/

FLONAL-s
Huppypan

~ DEC 0 6 201




PRODUCT REVISED
complying with the Florida
& 166 & §“M“%f~ 2”7 é 106 A 3
o o Dese 1% & g
4 / e / NERE
7 - i
/ / 108 / 2|52
i HHEE
iy AJ i // HEE
il I P
\ 7
1l
o0 .
112 112 %
© © <5l
. . Detail (N . SIEIZ|2
R D SCRE TS ) il AR
SP-5 SP-5 SP-5 THHE
SEE SHEET 9 FUOR CLIP DETAILS EIEE

\ A 106 _\ ;& TS

PHONEY 1-B00-631-7379 / FAX: 908-272-5844

é & !n
27
"_; £
= o =
g Y
106 | 108 ﬂ-g
| (7, g
[
110 o o
‘-E u
<= =) = =3 g
£ o]
! I =4 1 = 2 2 : . 4%
] H a— —] d pramnis o4 L | E GAN-ELMG_ / -
: lr| 105 School Greek Trait @
Luxembire, Ti 90217 ¥
Phone [020.845 1042 i
5 Fax  [920.345.1048 i 4% %/
3 WWW.ICE-NC.ComM _§‘ )
, Florda Firm No F-01000005051 I v
. . S Certificate of Authorization: #909 ' E ,
Detail LA Detail (R ?&Eé}'%\ng @ Lbavidrco o et el
SCALE: NTS 5/ SCALE: NTS \&/ SP-6 Registration No: 50923 SCALE: NTS -0}
SP-6 SP-6 SP-6

SEE SHEET 10 FOR CLIP DETAILS T

AN




1 [HEA] 6063-T6 ALUM M_ 0.0/0 THK & o
o A — STANDARD 6063-T6 ALUMINUM 0070 THK 8 2
3 ADE BRACE £109-To ALUMINUM 0121 THK 2214
4 ST 6063-T0 ALUMINUM 0080 THK —|B[8|™
2 |[STANDA AM 6063-7T6 ALUMINUM 0125 THK Zlnl9lo
6 STANDA MU ON_HALF 6063-T6 ALUMINUM 0,125 THK B | i 'ui:
/_ISHA ADE REINFIIRCEMENTI[3“x0.080 TRIM TU MATCH SPECIAL SHAPE PROFILE 6063-16 ALUMINUM D g £|z
8 |HEAD = FIIR ROUND SHAPES [6063-T6 ALUMINUM _0.080 THK
40 |3 AA CHA 6061-T6 ALUMINUM
41 14" AA CHANN 6061-T6 ALUMINUM
42 |6” AA CHANNE 6061-T6 ALUMINUM
43 187 AA CHANNE 6061-T6 A[_UMINUM
44 [CONTINUOUS MULIION ANGLE 2'%x3"x1/4” ANGLE 6061-T6 AL UMINUM
4> ICONTINUOUS MULLION ANGLE 4°x4x1/74* ANGLE 6061-T6 ALUMINUM
46 [BLADE BRACE CARRIER 2"'x2’x1/4” ANGLE 6061-T6 Al UMINUM
L/ 127%4"%1/8% MULLT TEE 6063-T6_ Al UMINUM
48 |13 1/2"x4"x1/4” S| 1P PLATE 6063-T6 AL UMINUM "
: (L)
20 [JAMB CLIP 2'x1-1/2x1/4*x4-3/4* LG 6061~T6_ ALUMINUM £
ol [JAMB CLIP 4'x1-1/2*x1/4*x4-3/4* LG _606]1-T6 ALUMINUM g
04 | JAMB CI TP 2'x1-1/2x1/4* CONTINUOUS ANGLE 6061-T6 ALUMINUM o
20 [JAMB CLIP 2'x1-1/2'x1/4*x2* .G 6061-T6 ALUMINUM ‘ = ':_x' olb
6 |JAMB Cl IP 4°x1-1/2*x1/4* CONTINUDUS ANGLE 6061-T6 ALUMINUM 3 ||
2/ _CLIP 4"x1-1/2"x1/4*x2* |G _6061-T6 ALUMINUM 815 |x |
D M ON CLIP ANGILE 47 x 6" x 3/8" x 6% LG CLIP 6061-T6 ALUMINUM - 2 STANDARD MULLIONS 513 [=]s
59 M ION CLIP ANG 4" x 4" x 3/8" x 3 1/2° LG. CLIP 6061-T6_ALUMINUM - 4* CHANNEL SPLICE Sdi|y|e
60_[M ION CLIP ANGLE 4" x 4 x 3/8" x 7 1/4* |G, COPED CLIP 6061-T6 Al UMINUM — 4% CHANNEL SPLICE ALT. SIEIS|E
1 M -EI CLIP ANGLE 4" x 4" x 3/8" x 4 1/2* |G, CLIP 6061-T6 ALUMINUM - 27x4*x1/8* TEE/P*x3*x1/4* ANGLE MULLIDN ajlala
62 M 0 P AN 4° x 6* x 3/8" x 6 7/8* 1.0, COPED CLIP 6061-T6 AL UMINUM - 2*x4’x1/8° TEE/2*x3’x1/4” ANGLE MULLION ALT.
63 MULLION CLIP ANGLE 4° x 4° x 3/8" x 4 1/2" LG CLIP 6061-T6 ALUMINUM — 6 CHANNEL SPLICE
64 MULLION CLIP ANGLE 4° x ©° x 3/8" x 8 1/2* LG COPED CLIP 6061-T6 ALUMINUM - 6* CHANNEL SPLICE ALT,
60 IMULLION CLIP A E 4" x 4" x 3/8" x 6 5/8" LG CLIP 606]1-T6 ALUMINUM — 27x4"x1/8" TEE/4‘x4*x1/4" ANGLE MULLION
66 MULLTON CLIP ANGLE 4" x 6" x 3/8" x 7 1/2* LG, COPED CLIP 6061-T6 ALUMINUM - 2*x4’x1/8" TEE/4’x4"x1/4” ANGLE MULLION ALT. B
6/ M ION CLIP ANGLE 4" x 4" x 3/8" x 6 5/8* |G, CLIP 6061-T6 ALUMINUM - 8% CHANNEL SPLICE 4]
68 M ON CLIP ANGLE 4" x Q" x 3/8" x 10 1/2* |G, COPED CLIP 6061-T6_ AL UMINUM - 8% CHANNEL SPLICE ALT. 3%%
- )
80 [STEEL STUD 16 (A MINIMUM GALVANIZED STRUCTURAL STEEL STUD .g;g
81 [STRUCTURAL STEEL 3/16" THK MIN, (v =i
82 [ALUMINUM PLATE 1/8” MINIMUM @ s
3 |CONCRETE 2000 | B MIN, CONCRETE Q.5
284 [CMU GROUT FILLED CONCRETE MASONRY UNIT W%E
8o W0OoD G = 0.42 MINIMUM P
, 658
00 1/4-14 SCREW THREAD FORMING R SFIF DRILL S.S FOR ALUM. PLATFD CARBON STFF{ FOR 16 GA STEEL STUD, SPACING DETERMINRD BY CLIP LAYOUT =1
04 13/87 NUT AND BOLT 3/8 - 13 SS. ALLDY GROUP 1, 2, OR 3 CONDITION CW WITH | OCK WASHER ﬂgg
06 11/2” NUT AND BOLT 1/2 - 13 SIS, ALILOY GROUP 1, 2, OR 3 COANDITION CW WITH { OCK WASHER _ =<é
0811/4-20 x 1 SCREW STAINLESS STEE! THREAD CUTTING F POINT PILOT HOLE 228 — No t DRII| SPACED 2 1/4 INCHES l-%“f’
110 [174=30 BOLT. NUT & WASHFR —[174-20 SS NUT, BALT AND LOCKWASHER SPACING VARIES % L
2 [#12 SCREW #12-24 x 1 1/2° SS, TFK SCREW ALLOY GROUP 1, 2, OR 3 S sy P 1
g p .\\\\“HBHHJ. o A 8 of
sl omii M/ ¥
PRODUCT REVISED ENGINEERING -
:u myim with the Florida 105 Schoot (\Z&?ak gr;:_'ivl
mburg, 54
Accogtawe No [ /-( 212.07 115%?\0 950,845 1042
, 4 Fax 020845 1048
WWW.TICE=IG.com
Mianfi Pade Product Coosrol 111 i No: £-01000005061
Cettificate of Authorization: #9090
L. David Rice
Registration No: 50923

DEC 0 6 20M




——3.841——]

0.070 ‘-—
3731
2 - Blade

0.070J 37& 1.0‘00

0125

- Head

~——3.820

0.161—

ST

3,694

NG

. 3.080

B

3 - Blade Brace

0.080

4 - Sill

4,001 - 6,000 - ;é, g
4 L__— 5-Jamb S
0.185-* QL 1.125 0170 % E E_ =)
_t 0290~ |1 1EHE
] 6 - Mullion - 42 - 6" channel
0.125 1.500
i 8.000
I 4,001 .I T ™ v
ro.aso 0190 z
| —! [=—0.350 2 g 2 %
0190 43 - 8" channel
D190 3,000 M - ~& onanne ___LECE § g g %
' ENGINEERING
0.250 105 School Creek Trail
J__ —| }——0,125 Luxemburg, Wl 54217
‘ ) J Phone 920.845 1042
Fax 920.845 1048
f 1.500 00 www.fice-Inc.com | \A
=1, -] ——, — ] 4.0 H | m - G
=000 47 - Mullion Teggarm e oot | B
L. David Rice AP
Registration No: 50923 og EI\T
40 - 3" channel 41 -4" channel g;f
—Rip to 1125 ~————— 4,000 —————~ v
4,000 - ~—2.000— S5z
— | = R
L L —1 [=—0.250 = o §§§
I L1 3,000 — 0.250 ggg
2.000 ok
8 - Head for
- |
round shapes l-—2.000— fe————— 4,000 —————= |~ 5 000—]
mullion angle  mullion angle Brace Carrier




1t

!
[ 1[I
!

4%

#58

CLIP ANGLE
BOLT PATTERN B

#58
CLIP ANGLE
BOLT PATTERN A

#59

CLIP ANGLE
BOLT PATTERN B

[2"

:—¢392' J
13

3%']——

#59
¥ CLIP ANGLE

i

BOLT PATTERN A

#60
CLIP ANGLE
BOLT PATTERN B

4* -
| -2
I
77 U
§
a%'—/
#60
CLIP ANGLE

BOLT PATTERN A

RICE

105

3
& o
gl | |8
PRODUCT REVISED o2
o complying with the Flosida — b=
Building Code , ZlglS] -
Ammm//'fzf 07 [§|~]|% e
' 6 {8 ||z
Sl |w=
wil<|T |
By. x|a|ih|a
C Producet Consrol
7]
o
=
=
<T
o
a
a1 .
SIE[7(2
O 5 =&
alynl]n .
=R
51225
Lyt
ald|=]l=
ElE|lo|x
o|l—{o|a
B
[
)_
o!b,"
= &
8-
ENGINEERING g Y
School Crepk Trail o

Luxemburg, Wl 54217
Phone 920.845 1042

Fax

www.rice-inc.com

flonda Fimm No

920.845 1048

F-G1Q0C005061

MULLION CLIP FASTENERS SAMPLE 4

Certificate of Authorization. #9030

Cold formed steel,

Aluminum or Structural Steel - Tapped or

2000* PSI Concrete or Concrete filled

ol I
i.. Da\'lu ce—

0023

i Wood Structural steel - | ; " _ f )
I\f‘lllrjl::hlenr Nun:::;ifgé:llps support [ela] minimum 16 gauge ral steel - minimum 3/16 Aluminum Minimum 1/8 with nuts and bolts minimurm3 " thick iy 4000 psl confggistration Fne
Bolt pattern A Bolt pattern A Bolt pattern A Bolt pattern A Bolt pattern B Bolt pattern B Bolt pattern B
41ag bolts embeded 1/4- 14 thread forming or self | 174 . tpread forming or self 1/4-14 thread forming or self " Hiltl KB 3 carbon steel or 55 with Hilti HIT-RE 500 § with threaded rod for reverse
58 1 per connection | Standard mullion 24" with L inch edge deilling coated carbon steel or | yilling coated carbon steelor | 47ling coated carbon steel or 55 3/8 - 16 plated carbon steel or minimum edge distance of 4", clip Installation with minimum edge distance of
distance S5 screw min" edge distance | 55 screw screw minimum4 " edge distance Conditlon CW 55 bolts embedded minimum of 34 34", embedded minimum of 33"
1/4 X 3 lag bolts with 1 1/4 - 14 thread forming or self [ 1/4 thread forming or self 1/4-14 thread forming or self 1" Hilti KB 3 carbon steel or 55 with Hiltl HIT-RE 500 3/8 and threaded rodydth
59 1 per connection | 4 inch channel spflce inch ed egdist drilling coated carbon steel or | drilling coated carbon steel or | drilling coated carbon steel or 5§ 3/8 -16 plated carbon steel or minimum edge distance of 43", minlmum edge distance of 37, emk& od
ge cistance 55 screw min edge dist §" $5 screw mi edge distance 3* screw Min edge distance " Conditlon CW 55 bolts embedded minimum of 23 minimum of 34" ™ *
[/ ThTead Tarming or Self " e - - "y oy
1/4 - 14 thread forming or seif 1/4 - thread forming or self drifling £ Hilti KB 3 carbon steel or $S with Hilti HIT-RE 500 + HAS 3/8 anddd with® ¥
60 1 per connection | 4 inch channel splice 174 X3 lag bolts with 1 drilling coated carbon steel or drifling coated carbon steel or | coated carban steel ar S8 screw min 3/8 - 16 plated carbon steel or / 2 $

inch edge distance

55 screw

\\\\\W“‘I‘g Hiy,

W/

S5 screw min edge distance 3"

edge ditance 4"

Conditlon CW S5 bolts

minimum edge distance of 24",

embedded minlmum of 24"

minimum edge distance of 2" em.hecid@
ratnimum of 33" oK

*Any fastener rated for 2000 psi
concrete can be used In 4000 psi
cancrete

-
-
-

e

7 STATE OF 44
..,'fl ORID ?:"“.-'\
(DR R

Cér\nstruct

D

onsp

[ ]
i
49 MEEKER AVENUE, CRAN

PHONE: 1-800-631=7379 / FAX: 908-272-5844

’t

P HAL b a©

Uy

DEC 0 6 20m




okd 3
u 2dd: 5 <
— #6l #62 i #63 ] #64 gl |2
I ) [ E — O|
& 2} BOLT PATTERN B BOLT PATTERN B 23+ BOLT PATTERN B BOLT PATTERN B |22 a5
| * : - off: 2
|._ __I | _l ola|z|&
or . x|lals|la
2} 2
s Ef'
e [ T " |
__|. 3é. = 3
23 4le B P& | 4
F ] —-— AT
| [“’392 3 43 | 43 {4 T ek e 4=
m—— L —
m g I = * ' 1 T : ¢%J ’r_)gl' 4%!’_'_____ a1 -T |‘-
i r | La 1 - +
' —t =, L o] TP L J 2} .
— lé'l—— 'I-'— 27— i _{ Y T ¥ I H ‘% 4 2
» 4 — — 1 I~ # L .L.— =z
3 4 4 Z
Eg' ¢%' -1 é | -2 ] s
. T 4* 5
— 1 A A _ @ b4 | el s
| o o T ?* = —_— } Bé' = | o 0
- IR EEEE
i = [ ren o A
' = =Y
4 — Ré' j_ 1 | | 4: I & [ ? - tuJ.I 2 L E
: 3 14 144 T . ' I HERE
| #6| 2 & #63 o} EEE:
»
| T CLIP ANGLE 6 [l =5 CLIP ANGLE LEFT |
4 | I AND RIGHT
4 LEFT AND RIGHT I- 3 4 REQUIRED —| 14 —1db #6L
BOLT PATTERN A L & CLIP ANGLE ; BOLT PATTERN A “
I 11y BOLT PATTERN PRODUCT REVISED -
| I | OLT PATT A a8 coplying with the Florida 4o .:.."ﬁ
| 6 Dl ot 1112120 RICE St
i Acceptance No /- /2] 2., Z’ J- rg: oaﬁt}l
s IR AR R
| ] | z2
oy | | : i) ENGINEERING | ®.5
r p | 108 School Craok Trail 5 5
M oduct Cootrol ! 6 ' Luxemburg, Wi 54217 v L; i
Phone 920045 1042 c < ™
Fax' 020,845 1048 royigs
MULLION CLIP FASTENERS SAMPLE 5 www{IGe-Inc.com e S
Cold formed steel, Structural steel - minimum * ! i . u Zi
Wood olg Atumi - " 4 Aluminum or Structural Steel- | 2000* PSI Concrete or Concrete . onda Firm Np: F-01000005081
hﬁ:iflfr’\blgr cl?‘pl;r:::l:i?:d Support oo minimum 16 gauge & thick uminum Minimum 1/ Tapped or with nuts and bolts filled CMU 4000 pst concre ertificate of Quthorization: #9080 - | {gz
Bolt pattern A Bolt pattern A Bolt pattern A Bolt pattern A Bolt pattern B Boft pattern B Bolt pattern B E U?mu i e 50023 = 5%
left and right 4x2 Tee & 2 X 3 X 1/4 | 1/4 tag bolis embeded| 1/4 - 14 self drilling coated |1/4 thread forming or self | 1/4 - 14 thread forming or self Hilti 3/8 KB 3 carbon steel or 55 Hilti HIT-RE 500 + HAS # threaded rod P9 A i)
61 required angle reinforced 2§ with 1 mininch | carbon steel screw with §* | drilling coated carbon steef | drilling coated carbon steel or 3/8 - 16 plated carbon steel o | yith minimum edge distance of 3", | with minimum edge distance of 2§ ", A
mullion edge distance min edge dist. or S8 screw §" min edge dist | 55 screw with # min edge dist Condition CW S5 bolts embedded minimum of 3§ embedded minimam of 3 3" 7 2
1 per 4x2 Tee & 2X3 X 1/4 |1/4 lag bolts 1/4 - 14 self drilling coated 1/.4 _thread forming or self 1/.4 - 14 thread forming or self Hilti 5/8 KB 3 with minimum edge | Hilti HIT-RE 500 5/8 with threaded rog\N ', 4 ve
62 connection angle reinforced embrded 2 li" with 1 { carbon steel screw with 3+ | drilling coatec{ carbon s_teeln drilling coatled Carbo_n stfel or %;ﬁ{ﬂ:z;egﬁ;gf;rtt:el or distance of 44", embedded minimum edge distance of 3", embe@ %
multion inch edge distance | min edge dist. or 55 screw min edge dist §* | S screw Min edge dist 4 minimurn of 4 minimum of 2 7/8 " e
left and rlght 1/4 X lag bolts 1/4- 14 self drilling coated |1/4 thread forming or self | 1/4-14 thread forming or self Hilti 3 /8 KB 2 carbon steel or 55 Hiltl HIT-RE 500 + HAS § + threagdd rod @
63 required e Ginch channel splice | embed 28"with 1 | carbon steel screw with §* | drilling coated carbon steel | drilling coated carbon steel or 3/8 - 16 plated carbon steel or | ik minimum edge distance of 3", | with minlimum edge distance of 22 *,
inch edge distance | min edge dist. or 55 screw " min edge dist | 55 screw with 4 min edge dist Condition CW S5 bolts embedded minimum of 33" embedded minimum of 33" = 4 :
1 1/4 lag bolts 1/4 - 14 self drilling coated |1/4 thread forming or self | 1/4 - 14 thread forming or self Hilti3" KB 3 with minimum edge  |HIT-RES00 5/8 with threaded fid 2
64 copner:ection 6 inch channel splice | embeded 2 4" with 1 | carbon steel screw with §" | drilling coated carbon steel | drilling coated carbon steel or t - 11 plated carbon steel or distance of 43 ", embedded minimum edge distance of 3", effpe liz, 3
inch edge distance | min edge dist. or 8 screw min edge dist " | SS screw edge distance 4" Condition CW $5 bolts minimum of 4" minimum of 2" ) é{[: 3
*=any fastener rated for 2000 psi 4 ""-.A. LOR &
cencrete can be used In 4000 psl ‘. s >
concrete ' 8/ Ml

77 L\

FEEg RN
DEC 0 6 20n




y
I v - 1
o} = o} 3 o
o e
— — 7l 2
n - — c
h #65 ol #66 N\ #67 318(5|"
ale
25 F CLIP ANGLE _\) CLIP ANGLE 3 CLIP ANGLE #68 HEE
BOLT PATTERN B 7 {, BOLT PATTERN B 6 BOLT PATTERN B CLIP ANGLE x|z ;
- I
23’ *f BOLT PATTERN B
“"‘8%'_"' I-.-—-—-_4l_.._ -——-Eé'—-— | L
4+ 4* 4 23
e D7 l |.....;:_>'_.. l—(ﬁ?%' e D ] I
¢’ 13 4 — “ =
”
| | f‘l i | P B%T_ 3 | -2
[ e - 1 \
68# egr egl J 7%, N 68# : egr 68: 1 3%1 2
23" _/ S
=9 - 4 = ¢1%' l = . . 5
= Y i 63 £ 6p| — L3
i |« - : HEGE
] 3 2% |10h M E
L i x
n ok R
& - 2|
lé'_]_._, lél ml%l_/ _L —_1l ] | 1 . 1 . ¢l%l'_/ 1 A +— = (': U} ?'2 >
__' : * L W
1% 1% ¥ B = T aldidl=
Eg ¢I%c e Elule
Lo
L g' L g' L g‘ ‘ & oY =
g 4' * A —
4 4 4 2%#
J; g' L g' —Jf J 8' :
_[ | H | . - —
[ Ir 113 11 I I Rg' | ] __l I_ ’m
T | 1] 1 i 4 @
4 #65 | 6" | #66 4 6* - 0
CLIP ANGLE CLIP ANGLE LEFT PROLRKCT REVISELs #67 #68 =5
B g ™~
LEFT AND RIGHT REQUIRED AND RIGHT REQUIRED oo cophyng witotne riids ~ CLIP ANGLE LEFT R CLIP ANGLE LerT anp || G2
,m] l'n (“)dc IR R I AT, F =
BOLT PATTERN A BOLT PATTERN A Ricotmena /)-42/7,07 AND RIGHT REQUIRED 7 SINEERING @5
Fapipmtion Uate ﬂ_éf/& 2016 BOLT PATTERN A ol Creok Trail RIGHT REQUIRED 0 3¢
B afilro. WI 54297 g BOLT PATTERN A T o
M’;ﬂ-‘;i Pt Cocdol af $20.345.1042 =™
¢ srocuct Lovgo *Any fastener rated for 2000 psi F ey 97 - ° Cg
cantcrete can be used in 4000 psi wwvegipe-inclcom [ o= i
concrete i 6” 1 t % il
MULLION CLIP FASTENERS SAMPLE 6 Flonicla Firm No: F-01 0q0005061 /= g?
. ber of Wood Cold formed stee), Structural steel - minimum Aluminum Minimum 1/8" Alrminum or Structural Steel - Tappeq  2000* PSI Concrete or Cor%’c;éjg:’ig i;;:é;eﬁuulwz-ooo si concrete Wi 2
I\ﬁljliat:ebr clriqpusn:e:{li?ed Support minimum 26 gauee 3/16 or with nuts and bolts ming  thick filed CMU__ po eirdtion No: 50023 i \ \“\”Dﬁ}"”’f W é.!-
Bolt pattern A Bolt pattern A Bolt pattern A Bolt pattern A Bolt pattern B Bolt pattern B Bolt pattern B \\"s‘ § o = 4 &
ieftand richt | 4¥2 Tee B 4X4X1/4 1/4 lag bolts 1/4 - 14 self drilling coated [ 1/4 self drilling coated 1/4 - 14 self drilling coated Hilti§ K8 3 carbon steel or S with Hilti HIT-RE 500 S/8 with threaded rod $ N o ig
65 required £ angle reinforced embeded 2 3" with 1 carbon steel or 55 screw carbon steel or S5 screw car_hon steel or S5 screw min i 11l;3|ated carbon steel or minimum edge distance of 7", inimum edge distance of 43", embeddﬂl & U 2z
mullian inch edge distance | min edge dist 3 minimum edge dist §" edge dist 4" Condition CW SS bolts embedded minimum of 3" minimum of 2 §° &
left and richt | 9¥2 Tee &4X4X 1/4 3" lag bolts 4 - 14 self drilling coated | 1/4 self drilling coated 1/4 - 14 self drilling coated | Hilti § KB 3 carbon steel or SSwith | HIItiHIT-RE 500 + 5/8 with threadedtyod®
66 required B angle reinforced embeded 24" with 1 | carbon steel or S screw carbon steel or $5 screw carbon steel or S8 screw min §-11 pfated carbon steel or minfmum edge distance of 43", minimum edge distance of 3%, embec}'.ée_% H
mullion inch edge distance | min edge dist §" min edge distance §' edge distance Condition CW 55 bolts embedded minimum of 4 " minimum of 2§ " ) E
] 1/4 tag bolts embed | 1/4 - 14 self drilling coated | 1/4 self drilling coated 1/4 - 14 self drilling coated Milti§ KB 3 carbon steel or S5 with | Hilti HIT-RE 500 5/8 with threaded rodz G
67 :f;zu:gdrrght 8inch channel splice |24 with 1inch edge | €arbon steel or S5 screw carbon steel or $S screw carbon steel or 55 screw min 2/8 (;11 plated cal:b?n steel or mini?num edge distance of 7", minimum edge distance of 4 4", embegd@d “oa, LOR\ ~
distance min edge dist §" minimum edge dist §* edge dist " ondition CW 55 bolts embedded minimum of 3" minimum of 2" ﬁg/"“""""““ \\\\
left and right 1/4 lag bolts % - 14 self drilling coated | 1/4 self drilling coated 1/4-14 self drilling coated HIlti KB 3 carbon steel or SSwith | Hilti HIT-RE 500 + 5/28 with threaded rodd” s ’f;,”ONAL \\\\\‘
68 required 8 8inch channel splice | embeded 2 " with 1 | carbon steel or S5 screw | carbon steel or 55 screw carbon steel or SS screw min 5/8 - 11 plated carbon steel or || ininm edge distance of 439, minimum edge distance of 3", embedded LTI T
q inch edge distance [ min edge dist §" minimum edge dist 3 edge dist 4" Condition CW $$ boits embedded minimum of 4" minimum of 24"

BEC—0—5—20m



™~ —| |4 i
7T -
4 \
M (™
\ o I - NO S0 CLIP
392, P . ] BOLT PATTERN B
[ (MeT
- / / o 2
/ ¢39E' n
< ! ¢39E' | = ® 392' —
v | _\ | r -
g) = 0] £
g @ &
5 v 11%' -[
4. A== r H o <P r [ 1
] H &
+ 6" o« " P E
_!] I 6 e { -r
- 't; I 4 ¥ - e rl ¥ Fact
o 4% = 4} 2 3| —¢
U a _4 AN J_ |
w U 1 - ™ = -
&; H b o &
s - H W P o L H %' -
PTF | S N ) i T e <~ FU
5 ¢ 2
£ E o L]
+t — ’ = &'
48] J_ oJ I e 1" {
_L __L ‘ 1 11
——-I f 1* 17" — I-‘— —--' |-— 1" ' _}_
i — Sy
27 I = i' s NO 50 CLIP
{1’ £ , BOLT PATTERN A
11
1 T 4 e Can vory from 1" to 3*
. . 1o nccomnodatie edge
r% distance requirements
: 1%~
L1
ND 54 CLIP I | 1%1"
NO S6 CLiP
JAMB CLIP STARTS ABOVE
REAR LEG OF SILL
STRAIGHT JAMB CLIP AND FASTENERS FOR ATTACHMENT TO SPECIFIED SUBSTRATES
Cold formed steel - Structural steel - Aluminum - ’
Clip 1D Wood minimum 16 gauge minimum 3/16 minimum 178" Concrete filled CMU 2000/4000 PSI Concrete
Number
Continuous Clip Continuous Clip Bolt pattern B Bolt pattern A Continuous Clip Bolt pattern B
1/4 dia Hilti KB lll or
54 1/4X3lag  |1/a-14thread equlvelent coated steel or
bolts coated | forming or self drilling $5 with 34" Inch min ed
carbon steel | coated carbon stesl dl \tm 1?: xr;:n eh ge
56 or stainfess or stainless steel stance, or e
steal screw Powers Tappers with 3 inch
minimum edge distance
50 1/4-20 thread
Instalied forming or self 1/4 " Coated carbon steel,
12" on drilling coated 1/4 " self threading or self Stainless steel Powers
center carbon steel screw. | drilling coated carbon steel tappers, Hilti Tapcon or
1/4-20SSboltcan | or S5 screw equivelent, 2 inches long
be used with a nut with 3 inch edge distance,
51 & washer or by
Instlelslled drilling and tapping
12"on the structural steel,
center Minimum " edge
distance

1% L1

ND Si CLIP
BOLT PATTERN A

{

oo o {1121 27

Y

1}

t—

= %' /_
NO S1 CLIP | 5 I— } —{-—
BOLT PATTERN B | Qg%' o t =
117 I
._.._€£ B — ——1 |
LI B
NO S5 CLIP
Com vary from 1° to 37 o b én FOR USE WITH
Ho accommodote edge [ _L_ SHAPED
diftonce requirements I 1 LOUVERS
- A
H-_ 1 —— L
I
43 -
85"
& | B
=1 _€£ H /_
1 f | €6 é’ ( 2
f - .
= 2| 1 [|ep { ) =
- Con vary from 17 to 3*
o!‘ito't uccommodmite eol%e l T
H stance requirenents —=] 17— Con vory from 1° to 3°
: L I to accommodate edge
+ — d ements
2 L No 57 cLiP Ry EE
w M Pa(mr REVISED = FOR USE WITH scoacssssowmmrnwoss
w + Y
¢ [4 a8 coenplying with the Florkia CROVERS ENGINEERING

105 School Croek Trail
Luxemburg. Wl 54217
Phone 920,845 1042
Fax 920.845.1048

WWWW._HCE-ing.comt i

Flonda Firm No- F-01000005061

Certificate of Authorization: #9080
L. David Rice
Registration No: 50923

SHAPED LOUVER CUIP FASTENERS FOR ATTACHMENT TO BUILDINGS
Clip ID Wood Cold formed steel - Structural steel - Aluminum - 2000/4000 PSI Concrete or
Number minimum 16 gauge minimumn 3/16 minimum 1/8" Concrete filled CMU
1/4X 3 lag 1/4 - 20 thread 1/4 dia Hilti KB 1l or
55 bolts coated | 1/4-14 thread forming or self 1/4 -14 thread forming or | equivelent coated steel or
carbon steel { forming or self drilling drilling coated self drilling coated carbon | SS 2 inch min edge distance
orstainless | coated carbonsteel | = " oo | steel or SS screw or 1/4-20 |or 1/4 X 2 inch powers
steel. Clips on | or 5§ screw, Clipson 4 bolt. Clipson 4 3/8" Tappers 3 inch minimum
57 43/8" 3/8" centers screw or 1/4-20 bolt. t P dge dist cli 5
\ Clips on 7 " centers. | <enters. edge distance. Clips on
centers, inch centers.

== S

/-

pr—4—

43 - Slip Plate

USE MULTIPLE SLIP PLATES TO MINIMIZE
GAP AT BETWEEN BLADE STIFFENER
AND SUBSTRATE. GAP SHOULDP BE NO MORE
ATLEAST ONE SLIP PLATE IS REQUIRED A
SILL OF EVERY BLADE STIFFENER,

SEE SCHEDULE ABOVE FOR
REQUIRED FASTENERS ~Z

05-24-1

DATE: 12-03-10
SHEET: Il OF 12
DRW NO : RD-lI40

REVISION: |

I’-0"

DRW BY: R. GEIST

TITLE: SUBMITTAL DRAWINGS

PROJECT: DC-4174

SCALE: 3"

ecialties™

D, NEW JERSEY

P

S

PHONE: 1-800-8631-7379 / FAX: 908-272-5844

49 MEEKER AVENUE, CRANF

Con;iruct

D

DEC 0 6 201




1) Determine the required mullion spacing and louver height either from structural or architectural
considerations.

2) Starting with Mullion Table 1, under the job wind load go down through the tables until the required
opening height is found. The heading at the top of the table will indicate the detail to be used for the
mullion. The same tables apply to visible or hidden mullions (splices). Once the required height has
been found for the job windload, move left along the row to find the corresponding mullion/splice
distance. This will give you your section height and width. Proceed to step 3 for any additional
"stiffener" supports required.

3) From table 4, read the panel horizontal span {(mullion spacing from Step 2) and read the number of
stiffeners required under the design wind load. It may be necessary to change the mullion spacing if the
allowable blade span falls out side the table values, if so go back and repeat step 2.

4) It is possible to start with the stiffener tables to find a panei width (mullion spacing) , and then goto
the mullion tables to verify the mullion or chanel, detail and allowable height.

M UI | iOI‘\ ALLOWABLE HEIGHT FOR STANDARD MULLION DETAIL H/4 AND 4 INCH CHANNEL DETAILS a-Kfa
Table 1 Wind Load PSF
20 | 30 | 4 | so [ eo | 70 | s0o | o0 [ 100 [ 120 | 120 | 130 | 140 | 150 | 160 | 170
24 | 85 | 85 | 85 | 85 [ a5 [ 85 [ 85 [ 85 | 80 | 72 | 66 | 61 | 57 | 53 | s0 | 47
30 | 85 | 85 | 85 [ 85 | 85 [ 85 | 80 | 71 | 64 | 58 | 53 | 48 | 46 | a3 | 40 | 28
36 | 85 | 85 | 85 | 85 | 85 | 76 | 656 | 58 | 53 | 48 | aa | 41 | 38 | 35 | 33 | 32
a2 [ 85 | 85 | 85 | 85 | 76 | 65 | 57 | 51 | a6 | a1 | 38 | 35 | 33 | 30 | 28 | z7
48 | 85 | 85 | 85 [ 80 | 66 | 57 | 50 | 44 | 40 | 36 | 33 | 32 | 28 | 27 | 25 | 22
54 8.5 8.5 8.5 7.1 59 51 4.4 39 3.5 3.2 3.0 2.7 2.5 2.4 2.2 2.1
60 | 85 | 85 | 80 | 64 | 53 | a5 | a0 | 35 | 32 | 20 | 27 | 25 | 23 | z1 | 20 | 1o

66 8.5 8.5 7.2 58 4.8 4.1 3.6 3.2 2.9 2.6 24 2.2 21 19 18

72 8.5 8.5 6.6 53 4.4 3.8 3.3 3.0 2.7 24 2.2 2.0 19 18
78 8.5 8.2 6.1 4.9 4.1 35 3.1 27 2.5 2.2 2.0 19 18
84 8.5 7.6 57 4.6 3.8 33 2.8 25 23 21 19 18
90 85 7.1 53 43 35 3.0 27 24 21 19 i3
96 B.5 6.6 5.0 4.0 3.3 2.8 25 2.2 2.0 18
102 8.5 6.3 4.7 3.8 31 2.7 23 2.1 19
108 8.5 59 4.4 35 3.0 25 22 20 1.8
114 84 56 4.2 3.4 28 24 2.1 19
120 8.0 53 4.0 3.2 2.7 23 2.0 18

Panel span (in.) - from jamb t& multion or multion to mullion

Mullion ALLOWABLE HEIGHT FOR REINFORCED MULLION 4 X 2 TEE WITH 2 X 3 X § ANGLE DETAILS L/5 - M/S AND 6 INCH CHANNEL DETAILS N/5 - B/S

Table 2 Wind Load PSF

20 3 40 50 60 70 80 90 00 | 110 | 120 | 130 | 140 | 150 | 160 | 170
24 100 | 100 | 100 | 100 | 100 | 100 | 100 | 200 § 100 | 100 | 100 | 100 [ 100 | 100 | 98 [ 92
30 100 [ 100 | 100 | 100 | 100 | 100 | 200 | 100 | 100 | 100 | 100 | 95 89 83 7.8 7.4
36 100 | 100 | 100 [ 100 | 100 | 100 [ 100 | 100 | 100 | 95 8.7 8.0 7.4 6.9 6.5 6.1
4z 100 | 100 | 100 | 00 | 100 | 100 [ 100 | 99 8.9 8.1 7.4 6.9 6.4 6.0 5.6 53
48 100 | 100 | 100 | 100 | 100 | 100 | 98 8.7 7.8 7.1 6.5 6.0 5.6 5.2 49 46
54 100 | w00 | w0 | 100 | 100 | 99 8.7 7.7 6.9 6.3 5.8 5.3 5.0 46 4.3 a1
60 100 | 160 | 100 | 100 | 100 | 89 78 6.9 6.3 5.7 5.2 4.8 a5 4.2 3.9 3.7

66 10.0 10.0 10.0 10.0 9.5 8.1 7.1 6.3 57 5.2 4.7 4.4 4.1 3.8 3.6

72 10,0 10.0 100 10.0 8.7 7.4 6.5 5.8 5.2 4.7 4.3 4.0 3.7 35
78 10.0 10.0 10.0 9.6 8.0 6.9 6.0 53 4.8 4.4 4.0 3.7 34
84 10.0 10.0 10.0 89 74 6.4 56 5.0 4.5 4.1 3.7 34
90 100 10,0 10.0 83 6.9 6.0 5.2 4.6 4.2 38 ER
96 10.0 10.0 9.8 78 6.5 5.6 49 4.3 39 36
102 10,0 10.0 9.2 74 6.1 5.3 4.6 4.1 3.7
108 10.0 10.0 8.7 6.9 5.8 5.0 4.3 ER] 3.5
114 10.0 10.0 8.2 6.6 5.5 4.7 4.1 3.7
120 10.0 10.0 7.8 6.3 5.2 4.5 39 3.5

Panel span {in.} - from jamb to mullion or mublion to mullion

Mullioh ALLOWABLE HEIGHT FOR REINFORCED MULUION 4 X 2 TEE WITH 4 X4 X § ANGLE DETAILS (/5 - R/S AND & INCH CHANNEL DETAILS §/5-T/5
Table 3 Wind Load PSF
20 30 40 50 60 70 a0 90 | 100 | 110 | 120 | 130 | 140 | 150 | 160 | 170
24 | 120 | 120 | 120 | 120 | 120 | 120 [ 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120
< | 30 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120
% 36 | 120 | 120 { 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 113 | 1206 | 100
E 42 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 [ 120 | 120 | 112 [ 04 | 57 | 91 | ss
S| 48 | 120 | 120 | 120 | 120 | 120 { 120 | 120 | 120 | 120 | 1236 [ 206 | 98 | 91 | 85 { 80 | 75
2 7sa [ 120 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 113 | 103 | 54 | 87 | 81 | 76 | 71 | o7
5[ 60 | 120 | 120 | 120 | 120 | 120 | 120 | 120 | 113 | 202 | 93 | 85 | 76 | 72 | sz | o2 | 6o
% 66 | 120 | 120 | 120 | 120 | 120 | 120 | 126 | 103 | o3 | 84 [ 77 | 71 | 686 | 62 | 58
S 72 | 120 | 120 | 120 | 120 | 120 | 120 | 106 | 94 | 85 | 77 | 71 | 65 | 61 | 57
B 78 | 120 [ 120 | 2020120 |12 98 | 87 | 78 | 72 | 65 | 60 | 56
E 84 | 120 | 120 | 120 [ 120 | 120 | 104 | 91 | 81 [ 73 | 66 | 61 | 56
“g 90 | 120 | 120 [ 120 [ 120 | 123 [ 97 | 85 | 76 | 62 | 62 | 57
E[ 96 | 120 | 120 | 120 | 120 | 106 | 91 | 80 | 71 | 62 | sz
;E; 02 | 120 | 120 [ 120 | 120 | 100 | 86 | 75 | 67 | so
B 10e | 120 | 120 | 120 | 123 | 04 [ 81 | 722 | 63 | 57
€ T4 [ 120 | 220 | 120 | 107 | 88 | 77 | 67 | 50
120 | 120 | 120 { 120 | 102 | 85 | 73 | 64 | 57
Stiffeners NUMBER OF $TIFFENERS REQUIRED FOR EACH PANEL
Table 4 Wind Load Pounds Per Square Foot
20 30 40 50 60 70 80 90 100 110| 120| 130{ 140 1S0| 60| 70|
. 24 0 0 0 0 0 o 0 o 0 0 0 0 0 0 0 0
e a0 0 0 0 0 0 0 0 0 0 0 o 0 0 0 0 0
é 36 0 0 0 0 0 1] 0 0 0 0 0 0 0 1 1 1
2 a2 0 0 0 0 0 0 o 0 0 0 1 1 1 1 1 1
?u a8 0 0 0 o 0 0 0 1 1 1 1 1 1 1 1 1
g 54 0 0 0 0 0 1 1 1 1 1 1 1 1 1 1 1
g 5| 60 0 0 0 0 1 1 1 1 1 1 1 1 1 1 1 1
2 E 66 [ o i} 1 1 1 1 i 1 1 1 1 1 1 1
é gl 7 o 0 1 1 1 1 1 1 1 1 1 1 1 1
g2 7 0 o 1 1 1 1 1 1 1 1 i 1 1
2 e 0 1 1 1 1 1 1 1 1 1 1 1
g 90 0 i 1 1 1 1 1 1 1 1 1
:f—; 96 0 1 1 1 1 1 1 1 1 1
g 102 1 1 1 1 1 1 1 1 1
i:L’ 108 1 1 1 1 1 1 1 1 2
§ ma | 1 1 1 1 1 1 1 2
120 | 1 1 1 1 1 1 2 2 \““mm”"
N VD

NOTE: Comparative analy}
between the values sho

WwWw.tice-inc.com

Flonda Firm Ne F-01000005061
Certificate of Authorization: #9090

FESEE . FIYPT
e

b used to find values that f\gﬂ‘;‘,

1,2 or3.
FNVGINEERING

105 Schaol Creek Trail
Luxemburg, Wt 54217
Phong 920.845 1042
Fax 9208451048

Sastibongy

EN

Vi
"‘\’\

L7

NETL LI
.

d *

it gy,

Nt

o

41y,

05-24-1

REVISION: |
DATE: 12-03-1C
SHEET: 12 OF 12

RD-1140

DRW NO :

TITLE: SUBMITTAL DRAWINGS

PROJECT: DC-4174
SCALE: 3" = I'-Q"

DRW BY: R. GEIST

49 MEEKER AVENUE, CRANFORD, NEW JERSEY
PHONE: 1-800--631—-7379 / FAX: 908-272-5844

Cor&truction Specialties™

Registration No: 50023



